Ten frames

Section 6: Counting on and back to 10 — looking at the structure
When counting there is a structure.
The horizontal frame has lines of 5 spaces and the vertical frame lines of two spaces.

The first frame on the top left shows the number 1, to the right of it, number 2 and so on to
ten (bottom right).
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he first frame on the top left shows the number 1, to the right of it, number 2 and so on to
10 (bottom right)
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The ten frame cells do not have to have the same coloured resource in it, it’s the number of
spaces occupied and unoccupied that have meaning. Use natural objects with Early Years
Foundation Stage children. Here is an example of a multicoloured ten frame.
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